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Note : This paper is of seventy (70) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= lŸkj ¼70½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by „Probability Distribution‟ ? 

Differentiate between Binomial and Normal 

Distribution. Describe the major characteristics of 

Normal Probability Curve (NPC). 

izkf;drk forj.k ls vki D;k le>rs gSa \ f}in rFkk 

lkekU; forj.k esa vUrj Li‛V dhft,A lkekU; izkf;drk 

oØ (NPC) dh izeq[k fo’ks‛krkvksa dk o.kZu dhft,A 

2. In a beauty contest, 10 contestents were given the 

following marks in beauty and wisdom : 

Contestent Marks in Beauty Marks in Wisdom 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

25 

18 

20 

22 

28 

26 

20 

21 

23 

18 

16 

25 

21 

22 

20 

18 

18 

19 

23 

24 

Find out correlation between beauty and wisdom using 

Rank correlation method. 
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,d lkSUn;Z izfr;ksfxrk esa 10 izfrHkkfx;ksa dks lkSUn;Z vkSj 

cqf)ekuh esa fuEufyf[kr vad fn;s x;s % 

izfrHkkxh lkSUn;Z ds vad cqf)ekuh ds vad 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

25 

18 

20 

22 

28 

26 

20 

21 

23 

18 

16 

25 

21 

22 

20 

18 

18 

19 

23 

24 

lqUnjrk vkSj cqf)ekuh ds chp Øekxr lglEcU/k (Rank 

correlation) Kkr dhft,A 

3. Solve the following LP problem by Simplex method : 

Maximize Profit (P) = 10 4x y   

Subject to : 

20 10 1200x y   

40 10 1600x y   

, 0x y  

fuEufyf[kr js[kh; izksxzke leL;k dks flIysDl@ljyhd`r 

fof/k }kjk gy dhft, % 

vf/kdre ykHk    (P) 10 4x y  

izfrcU/k gS %  

               
20 10 1200x y

  

40 10 1600x y   

, 0x y  
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4. What is hypothesis ? The procedure of testing 

hypothesis requires a researcher to adopt several steps. 

Explain. 

ifjdYiuk D;k gS \ ifjdYiuk ijh{k.k dh izfØ;k ds fy, 

,d ‘kks/kdrkZ dks vusd pj.kksa dks viukus dh vko’;drk 

gksrh gSA O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer six (06) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA  

1. Write a short note on measures of central tendency. 

dsUnzh; izo`fŸk dh ekiksa ij ,d laf{kIr fVIi.kh fyf[k,A 

2. Distinguish between correlation and regression. 

lglEcU/k vkSj izfrxeu esa foHksn dhft,A 

3. Point out differences between dispersion and 

skewness. Explain the methods of measuring 

skewness.  

vifdj.k vkSj fo‛kerk esa vUrj Li‛V dhft,A fo‛kerk dks 

ekius dh fof/k;ksa dh O;k[;k dhft,A 
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4. The arithmetic mean of a series is 32 and its standard 

deviation is 8. If you multiply all the values of the 

series by 5 and add 6 to the product to get a new  

series, what will be the arithmetic mean and standard 

deviation of this new series ?  

fdlh Js.kh dk lekUrj ek/; 32 vkSj izeki fopyu 8 gSA 

;fn vki Js.kh dh izR;sd la[;k dks 5 ls xq.kk djds 

xq.kuQYk esa 6 tksM+dj u;h Js.kh fufeZr djsa] rks bl u;h 

Js.kh dk lekUrj ek/; o izeki fopyu D;k gksxk \ 

5. Explain the difference between a transportation 

problem and an assignment problem. 

ifjogu leL;k ,oa dk;Z fu;ru leL;k ds e/; vUrj dks 

Li‛V dhft,A 

6. Distinguish between parametric and non-parametric 

tests. 

izkpfyd ,oa vizkpfyd ijh{k.kksa ds e/; vUrj Li‛V  

dhft,A 

7. Explain the economic implications of queues. 

drkjksa ¼iafDr½ ds vkfFkZd fufgrkFkks± dks le>kb;sA 

8. Distinguish clearly between the sources of primary and 

secondary data. 

izkFkfed ,oa f}rh;d leadksa ds lzksrksa esa vUrj Li‛V 

dhft,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu‛B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu‛B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False : 

lR; ;k vlR; fyf[k, % 

1. A basic feasible solution must have 1m n  

independent allocations. (True/False) 

,d cqfu;knh O;ogk;Z lek/kku esa 1m n  LorU= vkcaVu 

gksus pkfg,A    ¼lR;@vlR;½ 

2. Assignment model is a special case of transportation 

model.   (True/False) 

fu;ru ekWMy ifjogu ekWMy dk ,d fo’ks‛k fo‛k; gSA  

    ¼lR;@vlR;½ 

3. The maximin criterion is also called the rule of 

optimism.   (True/False)  

vf/kdre dlkSVh dks vk’kkokn dk fu;e Hkh dgk tkrk gSA 

    ¼lR;@vlR;½ 
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4. All sequencing problems can be solved graphically.  

     (True/False) 

lHkh vuqØe.k leL;kvksa dk gy js[kkadu fof/k ls Hkh fd;k 

tk ldrk gSA   ¼lR;@vlR;½ 

5. Queuing  models  are  prescriptive  in  nature.  

     (True/False) 

dykjsa ¼iafDr½ ekWMYl vkns’kkRed izd`fr ds gSaA  

    ¼lR;@vlR;½ 

6. If xyb  is positive, byx  shall  also  be positive.  

     (True/False) 

;fn xyb  /kukRed gS] rks yxb  Hkh /kukRed gksxkA  

    ¼lR;@vlR;½ 

7. The square of standard deviation is called coefficient 

of variation.  (True/False) 

izeki fopyu dk oxZ fopj.k xq.kkad dgykrk gSA  

    ¼lR;@vlR;½ 

8. The value of mode may be calculated with the help of 

Historgram.  (True/False) 

cgqyd ds ewY; dh x.kuk vko`fŸk&vk;rfp= dh lgk;rk ls 

dh tk ldrh gSA   ¼lR;@vlR;½ 

9. Coefficient of Quartile Deviation is used to compare 

the variation in two data. (True/False) 
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prqFkZd fopyu ds xq.kkad dk iz;ksx nks vk¡dM+ksa esa fHkUurk 

dh rqyuk djus ds fy, fd;k tkrk gSA ¼lR;@vlR;½ 

10. Data collected by the researcher himself/herself  

for a specific purpose is known as primary data.  

     (True/False) 

,d fo’ks‛k mís’; ds fy, ‘kks/kdrkZ }kjk Lo;a ,df=r 

vk¡dM+ksa@leadksa dks izkFkfed vk¡dM+s dgk tkrk gSA  

    ¼lR;@vlR;½ 
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